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Ch 3 Practice Test

Multiple Choice
Identify the choice that best completes the statement or answers the question.

C 1. Whatisthe perimeter of a rectangular room that has'a length of 5.1 m and a width that is 2 m less than the

length? 5.4
a. 244 m ® 164 m _}
b. 154m d. 204m
b 2. How many yards is 9 mi? P:sa+s.i+2.0+3.0 = lb-4m
fmile = 10 yde
a. 14500 yards c. 16040yards g puite  1¥0vd = 158U 4
b. 15 840 yards d. 12672 yards Lmite
3. What is the circumference of a circular hot tub if its radius is 1.35 m?
s 19,03 ez 2ZWr
a. 5.72m c. .03 m . .
b. 848m d. 424m 21 (1.35)
= €. UQnn

C 4. Which of the following is a good estimate of an inch?

%, The length from your elbow to your wrist.
%.  The span of your hand.

¢+ The width of your thumb.

d. The width of your pinky finger.

A 5. Which of the following are the most appropriate SL units to use for measuring a person’s height?

a. centimetres < feet
b. millimetres W, inches

Q. 6. A4"by 6" photograph is in a frame 3 wide. What is the outer perimeter of the framed photograph?
L4

Lo 4
Y213 - 5L '
{-«w»w-»-‘ %
‘2 26" i c. 22"
b. 13" d 41"
o LE *
“”“2 14145 +9 = 24 "
o Todal : 2M4 2520
‘:7_‘," - -}
> 4 2 2 2
b 7. What is the surface area of a cube that measures 16" on each side?
a. 2048 in? c. 1024 in?
b. 1536 in? d. 256in?
Ag} “:,QW
2 iy ¥ (b
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& 8. An aluminum pop can measures 11 cm high and has a radius of 3 cm. What is the surface area of the exposed...
can, to 2 decimal places?

a. 2827cm (c) 263.89 cm
b. 367.57cm d. 226.19 cm
v Jewn

Sp = 2w v F +2Tvh
T 2T LAN3) + 2TEY )

=242 .90
{~ 9. Find the surface area of this cone. Include the surrace area of the base of the cone. Round to 1 decimal place.
SA :=Mr2+Tvrs
=T (p)* + T (10) (27)

T24.2 4+ 84s.2
T bz Mem®

a. 21519.9 cm? c. 1162.4 cm?
b. 879.6 cm? d. 1099.6 cm?

{7 10. What is the volume of a cube that measures 23" on each side?

P‘?'{A Vm@@ M
a. 12167 cuin c. 529cuin J
b. 4232 cuin d. 2116cuin “ 223 %x23x23

23" W =121 in3

SD 11. How many mL are in 1 cup?

sombl = e
a. 100 mL = v ¢c. 300mL

b. 250mL d. 500mL
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é 12. Find the volume of the rectangular prism below, in cm?.

LS in ¥ 25Uom 1.5 cvw
vt
N vz L wh
“ = 6.2 (o554
g & < LUlS cen®
h i G-’LJ :
7.2 cm
L
a. 708.5cm3 c. 493.6 cm?
b. 252.7 cm3 d. 641.5cm3
13. A garden has an area of 24 yd2. It is covered in topsoil that is 3 in deep. What is the volume of topsoil used,
in yd3?
a. 72yd? c. 6yd’ 2in ¥ % Vd = 0.083%
b. 2yd? d. 24yd 3
1
) 3 s heighd V= Apoe ® heign t
=2y x 0.083%
, - 43
Sbase owee 24 yd* R
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Short Answer

1. Find the distance Lori runs if she completes 9 laps of this track.

C=Td
= W (40)
C;"( = 125,71 y4
40yd | Pz 12574 Lo+ 50
240 yd ¥ 4 laps

2. A fish tank measures 5 ft by 39 in by 27 in. For the best health of the fish, the tank should only be 75% full.
What volume of water should the tank hold, in cubic feet?

e

3%in x E;_g = 3.25 4+
V¥

27in v _| & = 2.25 £y
1Z

Ve Lwh
:(3,2,5} (2.’2«6)(‘;?

T 2.5 LLy R

2.5k 12 x6.15 -
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Problem

1. 3. What is the perimeter of this figure?
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2. Allanah can kick a rugby ball 72 feet. Cory is standing 27 metres away. Will the ball reach Cory?
2 64 ¢ 20.%8(19‘4 3¢ \.W\

[ £+ LoD cmn

- ZLQW

No, +Hhae bait wil
caleutotey =3 T2 ¥ 2048 T x| +lw 2 21.A un not- veach Cong

3. Sandro enjoys modelling famous buildings. He has decided to make a scale model of the square-based
Pyramid of Khafre, one of the ancient Egyptian Pyramids of Giza.

Sandro knows the pyramid had a base length of 706 ft and a slant length of 589 ft.

a) What is the surface area of the pyramid? Don’t include the bottom of the pyramid.

.

‘D‘W’\‘a w = L be

s,

(per A 2
e,

Sa= 2bs vb ™

As wed inctacle
> 2(106) (589)
T B306e N
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Avaari
4. Paula owns gn »manlf actured car that has a fuel capacity of 13 gallons. She wishes to fill up her tank

before leaving on a long trip. Her tank is currently % full. Gas costs $1.18/L. What will it cost her to fill up?

ossay

@;) 13 gatlens = L - SoL
0-20(us)

"

% . 0.L2% =z b2.5/.

b2.S7 of 5O =

b.L2S SO = 21.2% L

QS.ZY“L’*”EI-WE/L«» = #3¢4.88



